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Abstract

This research begins with the study of relation-
ship between the varioeus types. of convergence of seguences
of (Lebesgue) measurable functions {fn} where we see that
any sequence of measurable functions {fn} converge in one
sense may not converge in another sense, The purpose of
this research is to find a sufficient condition for the

convergence in another sense.

The conclusien are

1. Let fn' £ : E ---> Re be measurable functions

¥V n>1, f, f finite a.e, on E Wn2 1 such that

fn 2> f onE and {fn} is @ monotone sequence , then



2, Let fn' f: E ==u> Re be measurable functions
VY n21, £, f finite a.e. on E VY n2> 1 such that E
satisfies the conditien : for all b > 0 there exists 60 >0

such that @m(E M (x«6, x+5)) > &y VxeEEB, (L, £} is a.

2
equicontinuous on E and fn ~2.> £ on E then fn ~2.> f on E,
3
3,1 Let fn' f : E ===> Re be measurable

, Ly i finite a,e. ou B Viz %,

funitions 'V n n? >

>
Assume that f 2 8:8s5 ¢ on E and YV 3 € N, the mequence
(x€ E: |£n(x) - £(x) | > % } is decreasing and there
exists n, € N such that m({x € E 3 |fn_(x) - £1(x) |2 %}) < ®,

- 3
Then fn -e=> f on E,

3.2 Let fn’ f : E ===> Re be measurable
functions ¥ n > 1, £, f finite a.e. on E Va>1.
Assume that fn 8:2:5 £ on E, {fn} is a monotone seguence,
and for each ¢ > 0, m{{x€ E : ] f1(x) - £(x) | >¢e}) <

then i‘n -2.> f on E,

L, Let fn' £ : E =--> Re be measurable functions
YV n>1, £, f finite a.e. on E VYV n> 1, Assume that

£ -%>fonE and VJE N, the sequence
1

{(x€ & :
on E,

£(x) - £(x) | > = } is decreasibg, Then fng-'—9=->‘ £

[



. 5, Let f n? f 3 E -===> Re be measurable functions
V'n2 1, £, £ finite a.e, on E Vn> 1, such that E satisfies
;?the conditien : for all & > 0 there exists 6 > 0 fsuch that
| m(E M (x5, x+5)) 2 g0 vV x€ E and .(f ¢ £} is equicontiq

nuous on E and assume that f 8:%.5 f on E, Then fn 2=> £ on E..

6, Let £ , f : E «==> Re be measurable functions'
V>, £02 finite a.e. on E V¥ n > 1, Assume that
f &"--) f on B, {fn} 4is @ monutsnc seyuence and for each
€ >0, u((x€ B [£(x) - £(x) | >2€}) <@, Then fnﬂ‘:‘.‘=> 4

on E,



